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Internal Assessment Test 2 – Sept. 2021 

Sub: Advanced Calculus and Numerical Methods Sub Code: 18MAT21 Branch: ALL 
Date: 02/09/2021 Duration: 90 minutes Max Marks: 50 Sem / Sec: II / ALL SECTIONS OBE 

Answer all the questions. MARK
S 

CO RB
T 

1  Use Newton’s Forward and Backward Interpolation formulae to find y(7) and y(17) 
respectively from the data: 
 18 16 14 12 10 8 ݔ
y 10 19 32.5 54 89.5 154 

   

[08] CO5 L3 

2  Using Newton’s Divided Difference Formula, fit a polynomial for the data given below 
and hence find f (2.5). 

x -3 -1 0 3 5 
f (x) -30 -22 -12 330 3458 

  

[07] CO5 L3 

3  Use Lagrange’s Interpolation Formula to fit a polynomial for the data: 
x 1 2 3 4 
y 5 19 49 101 
   

[07] CO5 L3 

4 Compute a real root of 0354010 23  xxx  by the Method of False-Position, up to 
four decimal places.                                   

[07] CO5 L3 

 
5   Find by Newton-Raphson method, a real root of the equation xxe x 25cos3  which lies 

near 5.4x . Correct up to three decimal places. 

[07] CO5 L3 

 
6 Solve   xz
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[07] CO3 

 
L3 

7 Derive one dimensional Wave equation in the standard form xxtt ucu 2 . [07] CO3 
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